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SECOND YEAR HIGHER SECONDARY EXAMINATION
Part—Ill
BIOLOGY
PART — A: BOTANY Time: | Hour
(Maximum: 30 Scores)
Cool-off time: 10 Minutes
PARTI| Answer any three questions from 1 to 5. Each carry 1 score. (3x1=3)
1 2)O@ 5 AOOWIBS GaloBYEBSIB BO®®IRN0 3 af)eRo af)PJO)d:.
8060mMIM)o 1 20886 arl®o.

1. Outer layer of pollen grains made up off ........................

al00NEEeM)AIO3 alj0oaldg@l WA IGlEN)M®Y ..o OdHI6NsI6Mm.
2. Ti Plasmid is isolated from ................ Bacterium.
Ti qlomidlall aIB@IEI® 2S}EMD .......... 6108 S 1Bl @ mlmymdeny?

3. Choose the correct answer.
VOOV OO0 He8)ailSIHn)d:.

GPP - R = NPP
GPP + NPP = R

NPP - R = GPP
GPP + R = NPP

4. ldentify the type of human population is represented in the following age pyramid.
®96¢ H506M12jldlenym oged aflodlw aB® @™o am)auyRIail wemomle g

QA8A2o® V) allaflocm)? —
I

|
I

LU

5. dN/dt = rN(K-N/K). K stands for ...........

dN/dt = IN(K-N/K). K avyaflafleeymd ..........

PARTII Answer any Nine questions from 6 to 16 each carry 2 scores (9x2=18)
6 O)O@ 16 AUNPOWBB Gal10346EBSIB aBO@ELIRN0 9 af)siNo af) P3O,

8060omIM)o 2 20388 Arlmo

6. Fruits are generally developing from ovary, but in few species, thalamus develops into
fruits.
a) Name these two categories of fruits.

b) Give one example for each.
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LOWOVEMWIW] ~NLIEBBUWD ~ YBOE108l BRAMWIWVOMIG M lmMyadem
Qfld:0a00 (al0aflenm®@. af)MI@ ailel Oa1SleSle @RIAT ~n2lEsd @R
MO0)aM,.
) afO) MO0 N2IBBD )OI LYD)d:.
b) 8ocoomIme BOGOO OBIAOMEMO af)P)ONH:.
7. What is emasculation? Write the significance of it in artificial hybridization.
DAV H)GRIHUM af)MIM af)a0? HY(@12QIGY TVB:LIMOIG DGIHG (aIdWOMYo
) O ?
8. Identify the figure given below, Name the two selectable markers in it.
@069 OMIGBIHN)M ail(@o MIO1B:H]H0)H:. @ROIIMd $06MOa|SIM 06nE) M0BHHAD
RIM)HB)OS GalOOP}O)d>

EcoR 1—Clal__Hind I

Pvul
Pstl o8

Pvu Il

9. Match the following

A B
Taq Polymerase E coli cloning vector
Eco R1 Thermus aquaticus
Elution Gel electrophoresis
pBR 322 Restriction endonuclease

Downstream Processing

G2lM)o alS| G aldHN)H

A

B

Tag catgloacoay

E coli aoemlod) HalsSd

EcoR1 COAAM BRI eOM
gel})aud 620 DeIs: 60000 TvlIms
pBR 322 0TV (S1HHM ag)MBEUOIM L) B SIGWXV

AWMerav(slo GlaldavaVlow)
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10. Write the benefits of transgenic animals to mankind?

QMU 00UBlH6 RMIMHRQo AIOYOMIQ RAM)EHOS HHIMEIBB GMNFEBBUD
) P ).
11. Name two molecular diagnostic techniques used to detect presence of a pathogen in its

early stages of infections.
GOONBIVNHB)OS TVLOMIELYO EMOODD B6aMe)allSIPENOM TVA0W]Ee)™ ©ens)

cEONMIBMW A1DIBHUB af) P ®)b>.

12. Explain the treatment of ADA deficiency in children .

&)Slegloel ADA owallatiBaSlwes ailelornoo’lml ailtosnosn)d:

13. Bt toxin is produced by Bacillus thuringiensis that can kill certain insects.
a) Name the gene that produce Bt toxin?
b) Why does this toxin not kill the bacteria?

enoaVleland @Gl Elo@@MavIad 9eialddlaleo)m Bt ¢sosmilm ailel #lsases
M uBlaflonym;.
a) Bt eso@avlad oeintoclaflenym 2108 ag@oem) ?
b) oo allauaINS®) MI0E:SIBlWO MUBlaflee) MIlel). &demenad ?
14. Interaction between species are given below. Name the type of interaction.

a) Sparrow eating seed

b) Cattle and egret

C) Abingdon tortoise and goat
d) Ticks on dogs

@269 emMlalenm 21aille:ud alel ®OOMIENo aldMaldo @R)U0WEe)M).

21011603 a)2IBOM)M aldTMVal0d(U0® OTTMI&H:SB)OS GalOOP})d:.

a) &)0)allw)o allom)o
b) al0o)aNo OBHOEN)0
C) @RENIMWWEM @RRAW)o @RYS)o

d) a15lw)o aISIWIeS al)0OC H2l8s8)0
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15. Factors that controls the population density of a given area?

630) (IGBUIANMID) R MAVI(MBDW (T)1®)L(TZD1096)3(TT) 2PISH683U3 a)e) A0 o0 ?

16. Construct a pyramid of numbers from the following data.

Trophic levels Number of Individuels
TC 3,54000
SC 7,08000
PP 5,842000

@26 ®mMdlenm allaieeBs)ns @SITuNIMOTilc MMUAQ aflloalwmIBexile)d.

G(SJal 18 MAlo Zlafleg0s af)epo
TC 3,54000
SC 7,08000
PP 5,842000

PART Il Answer any three questions from 17 to 20. Each carry 3 scores. (3x3=9)

17 0)O@ 20 AUHOWBS G21086BSM BO@BIEN0 3 af)flNo af)PI®)b:.
80600mIMo 3 @0ABHe Almo

17. Mature embryosac in angiosperm is 7 celled and 8 nucleated. justify? Write the ploidy
of the Cells? (Haploid or diploid)

Moo lldg0s(8)eM Muerallos) 7 EHdwemRg0 8 M IHIWMRSBEMMNE . (U |SOAIHO)D.
CHIUEBREOS GaloWIA] af)9)@)f (a02GIOTIW, Wleqlonlal)
18. PCR is the technique used to produce multiple copies of DNA invitro

a. Expand PCR (1)

b. Write down the step involved in this process (1)

c. State the Contribution of bacteria Thermus aquaticus in this process. 1)
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maileso ol DNA @)e9s GREME:0 G30a{ld:ud DamedHn3m Lal(B 1 @I6M)

adl.anvl. @@
a. allavl.erd@ ailaicle)s
b. ailavl.eroleeal ailallw ALISEBU3 of)P)O))b:.

C. OMAB2M @R@IOSIHHMY NIVB;STOIVV B DD (Al(BHlVVIENSS als:

QY SO DOE) B>

19. Observe the graph given below

Population density (M)

Time () —»

a) ldentify the type of growth in a and b? (1)
b) A population growing in a habitat with limited resources show 3 phases. Name the
phases? (2)

MB81021 (N0al MIO1SHUIBe)H>.
a) ‘@’ leeiw)o ‘b’ Vipeiwlo A8A2] aF®) ®O2066MM) 1G] 2 01W)b:.

b) a16ll®20® QlEAILBS)88 (IGBUEIM MSHN) M RMAVoAILD ABRLMAIM)
3 CRISEBSBNMBBO. G CLISEBSBIOS CaloOPL)M)d:.

20. List of the different steps in the process of decomposition? What are the factors affecting
the rate of decomposition?
Qfleaism (@ le®es allailw ceIgeBud agal?. Afleaism (i@ 1we® niowlenm

2RISHEBBUD af)OML}0? QAlQIGIHe)H:.
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